Acrolein
Response Ratio

0.55

Amount Ratio

Resp Ratio = 3.74e-002 * Amt - 5.82e-003
Coef of Det (r™2) = 0.990 Curve Fit: Linear

Method Name: Z:\VOASRV\HPCHEM1\MSVOA_W\METHOD\82W011719S.M
Calibration Table Last Updated: Fri Jan 18 00:57:07 2019




Methylene Chloride
Response Ratio

1.6+
1.4+

1.2+

0 0.5 1 1.5 2 2.5
Amount Ratio

Resp Ratio = 5.21e-001 * Amt + 3.98e-002
Coef of Det (r"2) = 0.999 Curve Fit: Linear

Method Name: Z:\VOASRV\HPCHEM1\MSVOA_W\METHOD\82W011719S.M
Calibration Table Last Updated: Fri Jan 18 00:57:07 2019




Naphthalene
Response Ratio

0 0.5 1 1.5 2 2.5
Amount Ratio

Resp Ratio = 2.01e+000 * Amt - 9.38e-002
Coef of Det (r~2) = 1.000 Curve Fit: Linear

Method Name: Z:\VOASRV\HPCHEM1\MSVOA_W\METHOD\82W011719S.M
Calibration Table Last Updated: Fri Jan 18 00:57:07 2019




